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Today, there are some ........ A......... animals on Earth. It means that we can find only a few of them
around us. Some ........ B......... are whales,pandas, tigers and Asian elephants.

Humans ....... | GR the natural homes of the animals in the forests, lakes, and plains. When the
number of people on Earth increases, they need more places for living. They ......... D......... trees and
destroy lakes. They make homes and roads .......... E........ Then the animals won't have a place to live.
They will ........ S .

1.(A)

dangerous endangered amazing (4) interesting

2 .(B)

examples wild animals recent ones (4) species

3.(0)

protect take care of look after destroy

4 .(D)

plant water put out cut down

5 .(E)

too instead (3] especially carefully

6 .(F)

put out burn down (3] die out (4) cut down

The Iranian cheetah is among the endangered animals. This wild animal lives only in the ........ A.......... of
Iran. Now there are only a few Iranian cheetahs ......... B..ooueue . If people take care of them, there is hope
for this beautiful animal to ........ | GH Recently, families are ......... D......... more attention to nature,
students learn about saving wildlife, and some .......... E........ don’'t go hunting anymore. Hopefully,the
number of cheetahs is going to ........ F... g in the future.

7 .(A)

plains jungles places (4) gulfs

8 .(B)

dead happy alive injured

9.(C)

hunt hurt die live

10 .(D)

making getting needing @ paying

u )








11 .(E)

farmers hunters (3) zookeepers (4) travelers

12 .(F)

increase die out (3) protect (4) keep safe

Protecting the ........ A......... home of the endangered animals is important. When you keep nature clean
and safe, the animals will live ......... [T Protecting the trees of the forests is also helpful. If you live
in a village, you need to be very careful about the hunters who come to your village to ........ | R
animals. Whenever you see these people, you need to ......... R......... These are simple works, but they will
help nature ........ E.ooeeen. .

13 .(A)

natural national (3) hopeful (4) wonderful

14 .(B)

less longer (3) instead (4) alive

15 .(C)

care for take care of (3) protect (4) hurt

16 .(D)

help them call the police (3) listen to them (4) find the animals

17 .(E)

more less (3) little (4) alot

Choose the best answer to fill in the blanks.
There are great stories about scientists and their lives. One such a story is about Thomas Edison. ........

(A)eeeenenne a young boy, Thomas Edison was very interested in science. He was very ........ (=) RS- and
always asked questions. ......... (C)...coee e , young Edison lost his hearing at the age of 12. He did not ........
(D) R school and learned science by reading books in the library himself. When he grew up he
worked in different places, but he never lost his ........ ... for making things.

18 .A

For During As (4) until

19 .B

emotional powerful (3) quick (4) energetic

20 .C

Fortunately Sadly Happily (4) Amazingly

21.D

quit attend (3) observe (4) break

22 .E

interest moment history (4) memory

Choose the best answer to fill in the blanks.
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The world is full of amazing things. Knowing this beautiful world is very interesting for ......... (A)........ .

One group of people who study the world are scientists. A scientist studies .......... (B)........ , animals, or
people. Scientists work hard and do research to .......... (@ s problems, find facts or .......... (D)........ new
things. Scientists learn about the world by .......... (E).eeenne and experimenting.

23 .A

humans patients (3) translators (4) neighbors

24 .B

bears blood (3) cradle (4) nature

25 .C

quit solve (3] develop (4) observe

26 .D

find invent (3) bring (4) grow

27 .E

waiting quitting @ observing @ inventing

Choose the best answer to fill in the blanks.

There are different types of scientists. Some of them study plants, earth, seas, or animals. Others study
people and how they .......... (A)........ and learn. Some scientists like to study history or languages. Others
are ..o (B)....... making new things. They want to make people’s .......... (Q)....... easier.

Some scientists become very famous and rich. Many people around the world may .......... (D)....... their
names and faces. But this is not what they call ‘success’. They feel .......... (E)....... when they solve
problems and find answers to their questions.

28 .A
attack translate (3] recite (4) behave
29 .B
ashamed of interested in @ sorry about @ careful about
30 .C
devices feelings lives (4) hearts
31.D
remember develop (3) bring (4) believe
32 .E
weak interesting successful @ hungry
Choose the best answer to fill in the blanks.
Edison was famous for ......... (At thousands of experiments to find answers to problems. He said, “I
never quit until | get what I'm ......... =) — . Edison had more than 1,000 .......... (O .. and was very
successful at the end of his life.
Many great ......... (D)........ had stories like this. But the key to their success is their hard work and
belief .......... (E)armesin iz If you want to get what you want, work hard and never .......... (F)izlns.
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33.A

making

34 ..B

before
35.C
laboratories

36 ..D

smaller than

43 .E

N

getting

after

observatories

bigger than

of the world. Each year, many ......... (E)........

Mashhad, Qom and Shiraz. Iranian people are

.........

(3) growing

(3) about

(3) inventions

not as big as

Iran is a four-season country and tourists can find a ......... (F)evereven.

(4) doing

(4) around

@ suggestions

facts senses names (4) areas

37 .E

about them about themselves (3) in them (4) in themselves
38 .F

give up pass away @ go on @ grow up
Choose the best answer to fill in the blanks.

More than half of blood is plasma. This is a clear and yellow .......... A....... . It carries red and white
cells. There are millions of red blood cells in one small drop of blood. They ......... B......... oxygen round
the body and ........ | GR carbon dioxide from body parts. There are thousands of white cells in a drop
of blood. They are ......... D........ red cells. They ......... E......... our body against microbes.

39 .A

liquid blood (3) cell (4) ring
40 .B

attack carry (3) donate (4) pump
41 .C

send create (3) collect (4) correct
42 .D

(4) as small as

destroy clear increase (4) defend
Choose the best answer to fill in the blanks.

Some countries ........ (A)......... a lot of tourists every year. Egypt is one of the oldest countries of
Africa. It is famous for its wonderful ......... (B)........ . Brazil, Peru and Chile are in South America. They are
famous for their ........(C)......... history and amazing nature.

In Asia, Iran is a great ........ w)....... 0 for tourists. This beautiful country is a true paradise for people

tourists from all parts of the world visit Iran’s attractions.
of activities from skiing to desert
touring in different parts of the country. Many Muslims also travel to Iran and go to holy .......... (G).eeueee in

(H)......... and kind to travelers and tourists.






44 A

attack defend (3) attract (4) describe
45 .B
towers airports (3) pyramids (4) shrines
46 .C
ancient polite (3) domestic (4) recent
47 .D
situation destination transportation (4) obligation
48 .E
modern traditional (3) domestic (4) international
49 .F
rest level (3) range (4) chart
50 .G
pilgrims shrines (3) stations (4] signs
51 .H
hospitable suitable (3) serious (4) comfortable
Choose the best answer to fill in the blanks.
When people are going ........ (A)...e.en. , they must do many things. They must get passports and visas.
Most often, they should go to the Police to get passports. They should go to the .......... (B)..ccv.. of foreign
countries to get visas. They should also become .......... (Q)........ with their destination before their trip.
They can do that by buying books, reading booklets, or visiting ........... (D)exee e . This may take their time.
But it can help them a lot. They may buy tickets and book hotels online. Or they may ask a travel agency
to do that for them. When everything is ready, they can leave the country ........... (E)eeeenene and enjoy their
trips.
52 .A
on a holiday on a vacation around (4) abroad
53.B
continent embassy @ airport @ agency
54 .C
suitable patient familiar @ nervous
55.D
the locals the hosts (3) websites (4) the guests
56 .E
safely rudely politely (@) angrily
.a.u.ets_a_Te large natural objects that orbit, or travel around, stars. Eight planets ................ (A)........ the star
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called the Sun. In order from the closest to the Sun, ......... (B)......... planets are Mercury, Venus, Earth,
Mars, Jupiter, Saturn, Uranus, and Neptune. The solar system is the collection of the Sun and the objects
that orbit around it, including the eight planets.

There are two main types of planets in the solar system. The four planets nearest the Sun - Mercury,

Venus, Earth, and Mars - are called inner planets. They are ........... (C)......nd planets about the size of Earth
or somewhat smaller. Jupiter, Saturn, Uranus, and Neptune are called gas giants. They are made
up mostly of gases and have no solid surfaces. They are all much ........ (D)...c.... Earth. Also, the gas giants
each have many moons and a system of rings. Saturn’s rings are the ......... (=) - and best known.

57 .A

orbit plan (3] carry (4) keep

58 .B

that these (3) this (4) a

59 .C

oral kind (3) quiet (4) rocky

60 .D

bigger than the biggest (3) big (4] as big

61 .E

large larger (3] largest (4) large as

Read the following passage and choose the best choices below to fill in the blanks.

Yesterday, it was raining all day. Mary was playing inside the house. But she ......... (A)........ to be
outside. She wasn't playing outside because it was raining .......... (B)...cn... She felt tired of ..........
(Ch— inside the house all day. She ......... (D)........ hard to keep busy. She was reading her book when
the electricity went out. Then, she began to practice painting. She painted .......... (E)" lunchtime. After
lunch, she ......... (F)........ near the window and watched the rain. While Mary was watching the rain, the
phone ......... () R It was her mother. She said she was coming to see her. Mary's mom .......... (H)........ a
new game. They ate ice cream together and played the game. While they were playing, the rain ..........
(n........! But Mary didn't even notice. She was having such a .......... () I with her mom!

62 .A

wants was wanting (3) wanted (4) will want
63 .B

easily sadly heavily (4) weakly
64 .C

leaving staying (3) passing (4) thinking
65 .D

tried felt found (4) wanted
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66 .E

from against (3) above (4] until
67 .F

flew sat (3] cleaned (4) heard
68 .G

called rang (3) fell (4) broke
69 .H

brought grew observed (4) recited
70 .1

started began (3) stopped (4) fell

71 .)

good dinner sad time (3) safe trip (4] good time

Fill in the blanks using the best choices below.

Bacteria are really important microbes. They are very small. They have only one cell. Bacteria can live in

any area of the earth. They aren’t all bad; ......... A , you couldn’t live without some bacteria!

Viruses are ........ B......... the smallest microbes on the earth, even smaller than bacteria. They are
different from bacteria because they cannot live ........ Coeeee . Viruses need to be inside a living cell to
live and grow. There aren't many good things about viruses - they usually attack your body and make
you .......... D........ !

72 .A

Also Happily (3) Fortunately (4) In fact

73 .B

between among (3) outside (4) around

74 .C

together at all on their own (4) around

75 .D

happy healthy nervous @ sick

Choose the best answer to fill in the blanks.

This happened about ten years ago when | was on ........ (21 R in England. We arrived in
Cambridge very late. However, | knew the name of a hotel that a friend had ......... (B)..ooeeeer before | left. It
was the White House Hotel. | told the name to the taxi driver and he drove off, giving me a strange look.
After a while we arrived in a dark, narrow street and the taxi stopped ................. (Cmm=r. an old building.
There was no lift in the hotel and the man at ......... (D)......... looked about a hundred years old. There
was no bathroom and the room smelled terrible but it was now midnight. There was nothing we ..........
(E)........ do, so we got undressed and went to bed. A few minutes later, | heard my friend talking to






|

o

himself ......... (F)evereneenne I switched on the light to see what was wrong. “Oh my God. Bed bugs!” cried my
friend. And they were everywhere. We went downstairs and asked the ancient receptionist for another
room. But he .......... (G)......... and shook his head. 'All our rooms are the same', he said. So we decided to
........ (H)......... atonce. It was too late to find another hotel so we ended up sleeping in the bus station.
narrow: not wide <u;L lift: elevator  ygudlul

76 .A

(4) embassy

77 .B

created prepared @ suggested @ respected

78 .C

outside inside (3) over (4] above

79 .D

destination donation (3) emotion (4) reception

80 .E

can should (3) must (4) could

81 .F

quiet quietly (3) safe (4) safely

82 .G

cried laughed (3) chose (4) flew

83 .H

check out check in (3) fill out (4) fillin

Choose the best answer to complete the passage.

At our swimming pool, there are lots of rules. For example, you .......... A........ run around the pool. If you
have long hair, you .......... B........ wear a swimming hat, but if your hair is short you ......... S

Children have to be with a parent if they ........... D....... swim very well. When the pool is busy, you
.......... E....... dive in, and you ..........F........ only swim for an hour.

84 A

must mustn't can't @ can

85.B

can might must (4) may

86 .C

mustn't can't shouldn't @ don't have to

87 .D

can't couldn't @ mustn't @ might not






88 .E

don't have to have to (3) may not (4) may

89 .F

should shouhdn't (3) can (4) can't

Cloze Test:

A zoo in England has something like a school for is little penguins. The little penguins must ........ (A).eeeenee
to swim and hunt in a small pool. Awoman .......... =) T them. It is important for the little penguins to

learn it because when they grow up the zookeepers will move them to a bigger pool with bigger
penguins. The little penguins must fight for ............ .. with the others. If they cannot ......... (D)........ ,
they cannot eat. If they're not good at swimming and hunting, they will not catch anything. This kind of
penguin is called the Humboldt Penguin. They live in south America. There are not many penguins of

this kind. Humboldt Penguins are ......... (E)eeverenee animals and people try to save them.

90 .A

visit learn (3) save (4) hurt

91 .B

injures explains (3) hopes (4) teaches

92 ..C

food group (3) forest (4) plain

93.D

cut increase (3) hunt (4) finish

94 .E

safe endangered (3) natural (4) Injured

Cheetahs, pandas and elephants are some ......... (A).eeenne animals. Among them, cheetahs live in the
......... (B)........ of our country. These days we can find only a few of them because we don't take care of
them and we destroy their natural homes. If people don’t protect them, they .......... (Q)........ die out soon.
There are some people who pay special attention to them and have some plans for taking more care of
them. For example they are ........ (D)......... make some movies about them.

95 .A

endangered injured destroyed (4) alive

% .B

places plans plains (4) parts

O C

were are going to @ will

98 .D

going to going will (4) have

We all know that there are many wonderful .......... (A)........ in the world. The solar system and human’s
body are two examples of them. Sometimes technology helps us to know these creations .......... (B)........ .

e ] D








Telescopes and microscopes are two ......... (@ J machines for humans to know .......... (D)........ about
the solar system and their body.

We can see the sky and millions of ........ (E)......... with telescopes. Microscopes shows small things bigger
and ......... (3 J—

99 .A

creations thousands (3) collections (4) observator

100 .B

good better (3) the best (4) as good

101 .C

unimportant possible (3) powerful (4) useful

102 ..D

less many (3) more (4) the most

103 .E

stars microbes (3) drops (4) cells

104 .F

near nearer (3) more near (4) nearest

Alexander Graham Bell is famous for his ......... (A)......... of the telephone. He first became........... (B)........ in
the science of sound because both his mother and wife were deaf. Alexander Graham Bell and
his friend, Thomas Watson never .....(C)......... their trying to invent the telephone. The first words spoken
over the telephone were by Alex ......... (D)........ he was testing the first telephone, he said: “Mr. Watson,

come here, | want to see you".

105 .A

research invention (3) cradle (4) knowledge

106 .B

interested possible natural (4) famous

107 .C

grew up put aside gave up (4) put out

108 .D

when since so (4) while

Fossil analysis shows that at least five periods in the last 600 million years ........ (A).......... a drastic
reduction in the number of species of plants and animals on the Earth. However, on previous occasions
such changes were ........ (B) < bovor, by asteroids or dramatic climatic changes. Scientists in general believe
that this ......... (Q)......... is the work of man. The dominance of a single species type, homo sapiens, is
badly hurting the rest of ........ ((0) [ With a population of barely six billion, humans are rapidly .........
(E).wa.... irreplaceable ecosystems. This sixth round of global dying of species could be far larger than
the first five.
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109 .D:

the living world world's life (3) the life of world (4) the world life

110 .E:

generating leaving (3) destroying (4) expanding

A forest is a piece of ........ (72) R with many trees. Many animals need forests to live and survive.
Forests are very important and ........ (B)eveenee in many places around the world. They are an ecosystem
which includes many ........ (@) J— and animals.

Temperature and rainfall are the two most important things for forests. Many places are too cold or too
dry for them. Forests can exist from _the equator to near the polar regions, but different .............
(D)......... have different kinds of forests. Different rainfall also makes different kinds of forest. .........
(=) - forests exist in deserts, just a few trees in places where their roots can get at some
underground water.

111 .A: farm

land (3) zoo (4] jungle

112 .B:

put out hurt (3) protect (4) grow

113 .C

plains range (3) plants (4) examples

114 .D:

cities villages (3) humans (4) climates

115 .E:

No Any (3) None (4) some

Viruses are tinier than bacteria. In fact, the largest virus is ......... (A)......... the smallest bacterium. All
viruses have a protein coat and a core of genetic material, either RNA or DNA. Unlike bacteria, viruses
can't stay alive without a ......... (B)......... . They can only reproduce by attaching themselves to cells. In
most cases, they reprogram the cells ......... (O)%.... until the cells burst and die. In other cases, they turn
normal cells into malignant or cancerous cells.

Also unlike bacteria, most viruses do cause ......... (D).” ..z , and they're quite specific about the cells they
attack. ......... (E)......... , certain viruses attack cells in the liver, respiratory system, or blood. In some cases,

viruses target bacteria.

116 .A)

the smallest as small smaller than (4) very small

117 .B)

fact host ring @ gift
118 .Q)

to make new viruses and making new viruses that making new viruses (4) which new viruses make
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119 .D)

exercises planets (3] diseases (4) wonders

120 .E)

Instead For example (3) Recently (4) Next to

Endangered animals are animals that are in danger of becoming extinct. This means that there will be
no more of these animals ............. (A).eeeeeee on earth. An animal is considered endangered or “threatened”
when ......... (B).oovnennn

Many countries throughout the world have laws that ......... ¥)......... endangered species. It is often a

crime to kill or injure an endangered or protected animal. In the United States there are a number of
laws that protect endangered animals. These laws are part of the Endangered Species Act which was
signed into law in 1973. ........... (D)......... laws help protect the animals and their habitat. They also include
........ (E)......... to help animals recover called Recovery Plans. The main agencies that enforce the laws
and help protect the animals are the United States Fish and Wildlife Service and the National Oceanic
and Atmospheric Administration.

121 .A

wild natural (3) hopeful (4) alive
122 .B

there are very few of them alive very few are there of them alive

alive there are very few of them (4) are there very few of them alive

123 ..C

mean protect (3) destroy (4) increase
124 .D

That A (3) An (4) These
1250

places plains (3) programs (4) hunters

Animals and plants depend on each other and their environment to survive. When their environment,
or habitat, changes or disappears, plants and animals may become ......... (A)......... . Natural disasters or
changes in the climate can harm or destroy habitats.

Humans can cause species to become endangered as well. Humans pollute habitats with garbage, car
fumes, and factory wastes. They ......... (B habitats by clearing land for roads, buildings, and farms.
They also may hunt and ......... (C).1... too many of certain types of animals.

The arrival of a new species in a habitat is another threat. Often the new species spreads freely because
it has no ......... {@......» enemies. The species already in the habitat ......... (E)Ems.. the newcomer. For
example, mongooses brought to Jamaica in the 1800s killed many native animals.

126 .

A

endangered alive special (4) recent
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127 .B
protect
128 .C
killed
129 .D
natural
130 .E

back home.
131 .A

history
132 .B

was developing
133 .C

work

134 .D
national
135 .E

plants

136 .F

was taking
137 .G
endangered

N

we arrived on Monday night, rain
dinner, and went to
Kenya's first .........

save

kill

alive

which are not be able to compete against

may not be able to compete against

My most memorable event was my

(3) build

(3] will kill

(3) interested

(4) destroy

(4] be killed

(4) hopeful

then not be able to compete against

that competing against may not be able

L34 ’:

Read the passage and fill in the blanks using the best choices.

to Africa with my family last November. When
, but it was quite hot. We happily got dressed, ate some
......... (C)......... On Tuesday, our guide picked us up in a big car. He drove us to

area, which opened in 1946. While we were driving there, he told us that this

area is a park with over 100 different kinds of
saw a giraffe and two zebras. | ......... (F)

trip

was falling

Africa

hunting

planets

took

dangerous

(3) action

was crossing

school

protected

forests

take

(3) wild

.......... (E)......... Five minutes after we entered the park, we
a photo of the giraffe when a zebra started running toward
our car. At first, we were very worried, but the guide said, “Don’t worry - zebras are not very ..........

(4) experiment

(4) was orbiting

(4) sleep

(4) shopping

(4) animals

(4) will be taking

(4) domestic






138 .H

ends is ending (3) was ending (4) ended

Recent advances in the fields of medicine and biotechnology ........ (@)eeeeeeee. in situations that could not
be even ... (b).......... only a generation ago. Battery-operated plastic hearts can be implanted into
people. People ........ (<) Foen be kept alive indefinitely by machines. ........ (o ) IR or animals can be
made. While such scientific achievements may ultimately help ........ () - , they have also created

complex legal and ethical issues.

139 .c

can should (3) must (4) are going to

Albert Einstein .........(A)........ in a secular Jewish family. He was a German mathematician and physicist
who ......... (B).eveeee the special and general theories of relativity. As a physicist, Einstein had a lot of ..........
(©)........ , but he is perhaps ........ (D)......... for his theory of relativity. In 1921, he won the Nobel Prize for
physics for his explanation of the photoelectric effect. In the following decade, he immigrated to the
U.S. His work also had a major ......... (E) on the development of atomic energy.

140 .A

getup grew up (3) give up (4) build up

141 .B

took developed (3) built (4) observed

142 .C

translation invitations (3) medication (4) discoveries

143 .D

famous energetic (3] continuous (4) emphatic

144 E

energy sense (3] effect (4) science

An adult human has about 206 bones. These bones come in all shapes and sizes. As people grow, the

bones in their bodies are very much alive. Bones are ........... (A).........

growing and changing along with the

person. One way they change is that bones in a young child are very soft, but as people get older, their

bones gradually harden. Bones are fully grown and have reached their maturity when someone reaches

the age of 25. Bones have a/an
that bones ........

support and

of different functions, but two of the most important are
for the body. Bones give the body its shape and also

protect sensitive organs like the heart, lungs, and brain. Human bones are very strong, but, .........

(B)E...... how strong bones are, sometimes they break.

145 A

originally directly rarely

146 .B

amount means serving
—

(4) constantly

(4) number






147 .C

consist provide (3) regard (4] inspire
148 .D

pressure quality (3) protection (4) miracle
149 .E

standing for no matter (3) referring to (4) instead of

Naval architects never claim that a ship is unsinkable, but the sinking of the passenger-and-car ferry
Estonia in the Baltic surely should have never have happened. It was well designed and carefully
maintained. It carried the proper number of lifeboats. It had been thoroughly inspected the day of its fatal
voyage. Yet hours later, the Estonia rolled over and sank in a cold, stormy night. It went down so quickly that
most of those on board, caught in their dark, flooding cabins, had no chance to save themselves: Of
those who managed to scramble overboard, only 139 survived. The rest died of hypothermia before
the rescuers could pluck them from the cold sea. The final death toll amounted to 912 souls. However, there
were an unpleasant number of questions about why the Estonia sank and why so many survivors were men
in the prime of life, while most of the dead were women, children and the elderly.

150 .One can understand from the reading that ....................

the lifesaving equipment did not work well and lifeboats could not be lowered
139 people managed to leave the vessel but died in freezing water
naval architects claimed that the Estonia was unsinkable

most victims were trapped inside the boat as they were in their cabins

1@ .Itis clear from the passage that the survivors of the accident ....................

helped one another to overcome the tragedy that had affected them all
were mostly young men but women, children and the elderly stood little chance
helped save hundreds of lives

@ are still suffering from severe post-traumatic stress disorder

‘I@ .According to the passage, when the Estonia sank, ....................

there were only 139 passengers on board
few of the passengers were asleep
there were not enough lifeboats for the number of people on board

faster reaction by the crew could have increased the Estonia's chances of survival

‘I@ .The underlined word "amount to" is closest in meaning to ....................

add up to
make up of put out (4) move out of

Each time you look up to the sky and see a star, you are looking at a sun in another galaxy. If you were
on another ......... (A)......... looking back at our solar system, you would see our sun as a star.

It is believed that every sun has planets ......... (B)......... it. Our Milky Way galaxy has more planets than it
has stars. In our solar system we have eight planets: Mercury, Venus, Earth, and Mars are the inner
rocky planets. Jupiter and Saturn are the outer gas giants.

A /






Uranus and Neptune are the outer ice giants. In .........(C)......... years, astronomers have designed a new
s, not quite big enough to be considered a

class called the “dwarf planets.” ......... (D)....

standard planet, and include Pluto. Jupi lanet from the sun.

154 .A)

(1) plain (2) ¢ (4) planet
155 .B)

(1) orbiting carrying (4) looking
156 .C)

(1) rocky (2) natural (4) wonderful
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(1) There are , (4) That is
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(35aad) 55295 o5 S I (s> xitand o) 590 LD S (255595 (Ve 23)Jl w9 29

PaS vr
on their own (ks 4)
Slbl (F yga (¥ e b () a8 ple )
s va
sick (yas )
OS5 - (orae (F Ceolbus — s (F oz (1 ooty 55 jolo g 2

OT pimslsgo 1) 390 0315 sy 0301 I Jd Cuwgs S &5 Lin pb o0 42,8 a2 oS U 13 Gt Lo Bl ipdgr eSSl s OMabies gl o (B9 iy Jlo ) o 93> Gt ol
T Ji 03 bl (0038 Oloilas S5 U9 p (S 9 e230m0) Sub 9 SUL S 4 (30 jl 32y LBl ol) o 4 e (BS L gl 9 1S S 2351 4 1) ol (o 2392 S LilS Jin
S il goi (55 b 9 392 ad Ao (9 3130 s gabal sl (S92 BT 5 3985 (AbIae G g Mewsse JEIG Ul 20 393> 39 b3y gk &S (53 10 9 3955 Sgmilin]
135 (519 » S 4,5 b piugs iz JSio @i U 3,8 idi9) b Eliz 3,5 00 cummo (3395 b (o) T 41 4 it |) pigs (5l a2 4085 3z o 3mlss 9 0235 j29e ol (l sl
1) BT 08 )5 ot Lo gyl plis 35Sy W BT o S 9 313 1SS 1y oo 9 39335 91 9 ol (55503 GO sy 232 Usfama 1 9 ouid) oy Gk 4 o o333 99 Lo 0T ot ol (o

pr3aleS pogrgil oSl )3 Cules )3 pmi 392 23 Gl (55590 Jid 03,5 3y sl s Jrooui i Olon

SRy G0 Sl (¢ s3SI (1 VS s
Cubl3S pl | (F 3,8 sleidug (V¥ 3,8 a3kl (¥ csle() VS vy
Sl (° $9 J-sVb (¢ Jsls (¥ oo () V5 yA
oy (F bt (¥ I3al (¥ saiio () F 455 v

23940391 (yrunsilys (slize 4 COUl J2d 35l 398 00 Cunzmuo 43S 5)L)5 Uz Fau8 Ao

el sk & (F ool (7 T ATO T as A
3,8 jlo (¥ 3,8 obesl (¥ 355 (P S 4,8 (0 VS Ay
03,8 5 (F 035 JuoS5 (¥ B 58,5 Ja 90 (¥ G610l Jogas (1 ) 55 Ay

185 09 3 sl 8B5S Olslage JST J. 35S o Ll 2US 30L 315 3y slage JST .0 950 soiwl y93 3L iy Jlie Olgie 0. (63 opilsd Lo psuinl )5
S L el SO (52 3lg o i 9 3w o 4 pud 39LS Lo Cannl E ol il (89,308 (2 adlg J (ST ol e 4 3L e3i 135 Lid 45 &ylge STy dm

P ganS VS Ap
P S VS A
E e ¥ @S A
) S VWS Ay
¥ gaS VS Al

\"64_;__,.)5 Va8 . AQ

anol a3 (P) 438 VS q,

0 e (I 03l Wl (¥ o8 b (¥ 03,5 B ()
ol sy €AMN oz pogio 4 405 L

il a3 (F) iy 38 F 55 q)

Os33L(F O3plaael (F O3l sy (P 03 dess ()
sl a3 (1) iy 58 ) 425 qp

o (F JEe (v 29,8 (¥ 15z ()

/






Cawl Caw s (V) 4035 VS qp

03,5 plosl (F 03,8 s> O3> gl 58l (¥ ox ()

el a3 (F) aig 8 T 4255 qp

8333 doxuo (F b (¥ b3 b pme s (¥ ol (0

Lo o) b 1) BOT I oS 31ams Olgsigo iy cpl M o0 (S35 OloysdS Scuds )3 LSl jg Sllge> cpl Olo 43 sttwd (o1 sbs )3 GUlgs> bbb 5 L WS jen
bl o (5l 9 23S g0 Sy gy 4 s0lS 4295 45 iiad (§3] 8l .2 diblyS b ke (5394 ST Cabiblone LOT I p3 30 ST .S g0 w5 1) BOT G2ub GG 9 privns LOT 8l
33y ol BOT 4 g2l Cannl )15 Jlto (512 33515 ool o 0T

0335 (F sadw i (M gosme (P (obidil sbs 3 () ) 45 qp

bt (F beds (F bzb (P boks (1 ¥ @S a5

ol O &g 3 aly 2530 o, S 30l 6 9 Cnl23T @ @21) Gty Sy oz ] )3 LS 31l 0sz TS LAy

ol sl 2 230 91 8135 iy 3yt g 235 (550U 32 ol S Sl 3 4 @l ol sl | 4SS QA

paeliii igs ) OBglie pl b3S o oS Lo 40 (5591955 (525 . attand BOT | 905 95 Gl 9033 9 (sommads Loghit 35515 3979 Olez > (S bwnt 3uSiiSls Slghine 45 @il g0 o dots
235 jg0ly QLS 9 (pumodd Loghite 4 @2l ity b Siteaads L Olasl (5100 340 850> 95 D gSung pSuo 9 b gSeuls

B30 QLS 55355 9 335 )31 ) Sz 58 5 jaz BiogSuns 1S s B sSuds L 1) ol i gekio 9 OlowsT oailgiio bo

SSosalie (B degome (M OLla (¥ Oliglie (1 ) 4255 a9

R e e (R ALY

ado (B 688 (P oSee (P ciealp (1 F 425 )0)

oibe (B ade (P SLj(F ms (1 VRS oy

dske (. LB (F oy Sae (P oyl (1 ) 4955 jop

OB (F S (f mSusp (P Sy () T WS or

I 38 Oguily pologs Gikiwsd 9 o pIS Sl 25391 19250 95 32 (b pawod 9 13l 037 M SiedSle 130 ele 4 135l )3 5l .l By y2a il £l bl (s pl S )5l
it 1) 55 plss o Loxisl Ly o guily BT 1 9.3 ,8 o Canas 1) il udgl caibls 5 o 5 i )ailuSUl ) il )3 23 43S SLolS pudgl .0zl 31 Camws Gil5 £l gl Ol s
O (B o)leeS (P gLl (P G (1 VRS )0

gy (F panb (F oSon (P siedille (1 ) 95 | )op

03,5 Ghgals (F (33 oulu5) 3088 Caws= 3,5 by (F 8BS LS (P 5,5 a8,(0 P 1oy

21T iso (6l posasl 42238 & jle I S5 While ¥ S ) oa

s joIS Aoz )5

Oled (L3 3150 )3 Wl (pl b sl 0395 1) (o) (590 Dblga> 9 OLS GadisS slaes puSoiizr IS 42diS Jlo Ogalio Fo 0 3 093 gty J813> 45 33 00 OLES Juad Julows 9 4 o5
4§39 j b 4 5,15 homo sapiens «yols 455 < (65 0 -l Olusl LIS G2alS ol 45 35,15 slizel Olxisdiils JS Job 4 3508 Shomsi ouiz cacl SLSL ol Ol b b S
195 g0 35S le S pa Jl 193 e ¢yl c3ktiad piumsewgST CadiS pa b8 sy p35 I 93 o 4 O] 685 3 plebue i Ly i Casmozr b 23300 s T Lis 5355 Sldg22 90 4l
3L JuB 295 iy Sl S 50 sl

V45 )09

o> S (F Lis S (¥ Lis Sxj (¥ 835 b ()

sl | g 58 Franly o2 ey Wiy S 53 35790 S LSl 9 oz 4 425 b i g

0313 by (F O3S 30b (P 03, S S (P oS ades (0 VS o

) Olez JS Gblio Sl (ol 43 9 3iud ogo s B iz 3513 jls 03le 8355 9 03,5 (S 355 slr b Sz 4 0bgils Sl Gobun Comd Jlun OS5 b e I e iz S
Nigdso OLgilz 9 OLLS I (6 b Jabis 45 Aisand (3b punsangST b O T .25 0

bl 4281 3979 abB Gblio b Igtusl bis 1 3555 g0 by JSiz -3 (S a3 paw Jloans b JSizr (5110 1 0lSe0 iy . 2istants B JSir Sl Jolse o pdptea J1 G 95 UL Gl s Lo
23835 332 g5 351 3529 b Obly 3 b Siz paes 39100 3929 4 1) b JSiz I alsis glgil 3 Ciliseo (sl (3L . 3adl 4nsls glite sla JSuz 25lg5 0 iliss slalga 9 T Lol

g o) 25 6 0T 4 3515 o LOT sy, S ol
Faw;s )
F a8 )y
Yaus gy
Fa8 e
FaS ))a

DNA L RNA (S5 slgo b (514t 5 559 13 Giudiss S11> w9 dod umnl 58255 08 (2055298 Sl Gwa 9 2 53S0 5 i )3 . 3tunds L5 5SS 5 0 ) g9 129

Pl /






b 2k o (5 300%0 0 0,b95 1) dske LOT 3)lge ki 1> 3 Jtosgi 35519550 sk 4 JUasl b ks o) T .xiilos 035 ) 353195 05 OUjwe 0932 B wy 9 g xSL BUS 50 . Aisand
S o Jp355 b s b 3y Sladghes 4 somab Sladphs BOT 15 3130 13 359 52 o 1 9 83555 Lo 4 5o b 3538 ol 333> Lo ms s

o8> 05 Sadghs 4 pols w39 Wlho Olgic 4 ditud Lol LulS 35 o dloz OT 4 45 Bladgls 5550 13 5 igdeo Solost Eaely b yws a9 ST s Sl BUS 1 izpod
b3 g0 Y15 Ban ) s SL B wg 9 dlse (B2 0> L3S (o0 do> U9 b guidiS

oS 03l oais Caiad Sl 3l ey Cansl 4555 900 57 93 o dmlio VRIS 115

o3 (P dils (P objee (P cdd>() VRS )y

23S o JolS 1) dhox | &y 58 b a5 sl 4 dogi b | IS L 11A

LSS (P bele(*  bolw®  bgai( VS e
LS s (F sl (F Jieolsie 4 (P goasess () T WS v

b Gl Jlo )3 Olsss Sy -39 2idlgsns 0335 owe) ($9) Slilsa> cnl 1 5Sa3 45 sl i2e 013y gl 3513 1S Bl s (b0 43 4 itd SUlgs> (5] b 20 )3 EUlgs
20 2355 BOT I (05 o 31325 45 3945 0 D gammo "3 3¢5"

@ owilsd ol dwm) cwgaas 4 1AV Jlo )3 45 Canl S o203 SBGSE Ogilh I Shdu uilsd (pl NS go Ciblos Jhs 5 0 4> Sllgs> I 45 315 3925 09l 53las vaoxie
Lzl 1) oilss o2l 45 haol (sl juil T .asl RECOVETY PlANS pb 45 ciblga> 3502 4 oS (510 2ol 10 Jolis (paizpod ol o o] 335 o SeaS BOT 0lnn j 9 Slgu I cubiblons
.z United States Fish and Wildlife Service s The National Oceanic and Atmospheric Administration sus’ o cbidlxe Sblgas jl 9 3iS 50

235 (F loswel (F gaub (P aes () PRSIy

S JalS 1) oz 33l g | 4y 38 hih ladiy 35 il 4 425 b iguadgs | W5 Py

O3l GRalI(F 03,8 3506 (F 03,5 cliblos (¥ Ols 2e (1 T 4955 1 pp

25950 IS 4 oz sl | S5 iy 35 Dy 0uiS 03litasl ddOTh sizo 4 ThESE 1 0T I b 33l sl oz [AWS LIS 019 imuiss © WS ype

bz 5E (F baby(*  beds (P Lol () ¥ 9S 1vs

IS bt o0 5> Dlls> 5 OBLS Gl GS0s 29,2 (a2 Il L3S el BOT oy b G jlaumo (5B 2kt haly QL jhamo 9 )53 4 03lo 2335 sl OBLS 5 SUlse>
302 o N (BOT) b 35bo s e T 0l 5 40 35550 9 9 T 13 Slymsis b g2ab sLY .35 5

ool (i) 5l o) (035 BLo) (LS b T .S 0 0390T SIGL IS 3515 350 5 Jusogil 393 Al b 1) ol j obusl 355 J13 b (5 20 43 |) b35S 3lgie s Olusl
o353 g I 983 )5 YIS 32 1 o ) SUlgz Sl g0l 1l Cannl (S iz 02 BOT 35 32050 a2 1) B0 kkn j 8l 0 9 0ol

35036t p2 3 2555 Camsl (S0 0kams 23 39790 SBLSE 3105 2asb (o> Lia) Mg b sinS GBLT 335 95 e .l (6,805 3135 8t ) Sy 4 3332 (0lge>) 65 599
2 s090 SUlsaz 1 (6l S o el 353 239 T S5l 4 VAo o a3 13 45 ol ywsSige (lio Olgie 4 auS s,

3l (F ool (¥ 235 (¥ b gasme,n() VWS rs

03,5396 (F oisle (P oabobs (P 03,8 clidbwe () ¥ @S iy

g Oly Oloj Sy 4y 338L J2b ) 9 £99 Sy I Ml Nigib g b s o2 0, AN by LolS L 4alS 95 B imades T RS L IVA

Jl9asal (F SedBlle (¥ 233 (¥ b () VS e

XS JalS 1) oz 3l o ¥ 40358 b ladiy S il g oz o 4 4255 b indgs VRIS L1V

9 23095 pli coudniir bl Jlrdgs b b 3gr )5 Sl 9 22)bise OLL p23ww) didins ud bo (B 390 23S sualys )3 ploslgls b lia )3T 4 p i o 1 (29 :51 0,b15
9l 23,5 50 S35 ZOT Chows 4 45 ol8i 395 035 jb 1 AFF Ul 13 45 50 LS 53 cblas dibis gl 4 1) Lo gl e T Olallss 44 )0 sindlo b Lo slodal) 4id 4w jg) o> o2 ulss

onbile Crous 41 (55055 138,550 S 51 461 1 ibl> siBg ou 395 3555 S 9 B)j oS )b 4 Oladg s 32 4B D sl Olgu> £33 300 1 Gy b (S diite ol 45 S Lo &
I8 o) )9 w0 S sl 0 (d) SUb U Sy oS ObLS s widlez o Taitus SUbks 3bj b 5055 3uils 055 S Leial) sy Js @259 0SS sl apes bo
35 o 0 Gl 4 6 p3gs Uiy o 5L plost | 321 353 )5 (oo 0155 o (paiile 4 25l oyt oaiS 9,5 1) (5w 4]

Pawss gy

SaleT (¥ Jos (¥ s (¥ @b ()

Paw;s )py

2 0 Sl (F b g0 >y Cabls (V¥ Sl o cubls (¥ 3 o0 drumgi Cadls ()
&8 e

olg> (F 430 (¥ Gy 3T (¢ Q0

Vs e

038 3,5 (F 3,5 bl po (¥ 03,5 S (¥ oo ()

P4y

Sblg> (F S (¢ Lo b (¥ olls ()

o] )






.ﬁisbao)Li.LJ szl)o.'.'.-di'.'.-i‘:}fﬂu,.o‘lg|)Mw|)a_|-i.gb)’go)|) t) dl’))‘tf&ulujuﬂ;)‘g))dyu)),a:do.?sWhen Gl,.a,aw),a,mb,;b | @S Nl d
ulhl(f s>y (¥ SU ks (Y w2l ybs s () P48 Py

.P._uL)jL‘a_.'vbALu&ﬁ}fdﬂﬁﬁ‘ﬂwwufjswohjb)l{))()bﬁub Fa,s VA

39250 S CAN O ygu0 (ol 43 45 23S (0 O ) (2Ulg 3929 5 Cus b Yadblowl dox IS pogio

OBLLIST 13 jud Sy Olgie 4 uiin] .35 g ko ) Copsmnd (g0308 9 0329 S 15 45 39 ST OIS 3 9 Olswdl ) S5 51 .38 5y JY3Saw (6354 031555 S 4> eyl & lTo

& prlgo vaia SULI 4 gl 3% B> 3 .51 Camdts S iS5 g 1 geandgi (6lpr Ly S b Jogi 030l 1 APY s 13 8l . Camnl gipnn Shcianans B pbis blS 5 it Dol ol scaiils lgl o

by o3l (§ 5l 4ungs pr sloses 5l 3 ol JIS 3,8

03nW(F 0ad ekas = 03,5 SH I 28 S, oxaab () PWS ro
3,5 o3alia (F Colu (5,8 ke (P spu() T RS 1F)

SBLEST(F b (P boses— boses cylS (P aams (1 F RS P
ST psloa (LY Jspda() ) WIS ypr

ole (B s (r Guo (P @10 VWS pr
have effect on sth ;24135 5t s juz sos

Jo 3 Ly olgsiunl . situd 035) sl 5T 03 13 Bolgstim] 3iiS g0 3y bpsT 45 Hsbolen .3505 3929 o jlail 5 JIS dod s> Lolgsiml gl 3)1> Olysiul Vo f 3935 @b olusl

G 3935 QLo B Olgxtl ey il 391 b Lol (xisand 35 Jlasa S 5358 S5 13 BOlgtias] S Caml (ol 3iS o puets LT 45 ool | (S 3bhasd paseds b ol pod s 9 3id)

ol T Ao I G 93 Lol catiud Ciliso 3,515 (631325 11> Lo lgouin] 3w )0 395 Eab 4 a0 (S PO o 4 (S 45 olSid 9 SIS o 3d) JolS ygbas Lolgsuiwl 59 o0
S o CbBdle 2o 9 ) ol sile ulwa saplsl I puizred 9 2B 0 JSWB 02 4 OISl 35 vage 4 L) O $lw 2Bz 9 Sluiiy 03,5 eald bolgRl STl

S 0 DBl (B it (598 Lolgtiml Hriiz Sl O g O ol (aiiud ($98 Sl Olusl GlaOlgsuinl
WIs(F um e puimessba (F Jol s () F RS ke

Sz (B e s (P i () PSS s

O3sdin ol (F 03)sT Olus 4 (F 03,5 eald (P oxd Jola (1 T RS ey

om0 (I cblis> (P cuas (P L8 () P auiS e

S e Lol Garg o leola() VRS e

2 13655 83 b g s bl - 2ibl 23181 G139l Tabs Sl 3 il (59395 9 5 p2 buns S O3 8y Lol el S225G ) (S 4 35S g0 el 35,0 s> Olyloso
G S b G e Fgil Sligh 9 3w b 3 9 32 el Wl (2l b 28 S5 g )ib 3s90 IS pe i 590 3 JolS Jsbs o) OT 3,8 Joo ) Ol oGl I cambio slass T
b e ‘59)|)3,$.\M|,F4565lp'1)| 133blS 395 Ol sl WU‘:@A,»A&)L&; Olioduws 9 SOUU slagwls )5 aundls H18 2iS > &5 Jlus us1 «s o) M."T)U"‘!&.’.)M'

31325 Wl ol b oy 585 AN F & les Dl S1ams . 35s5ks 09 > pme $b23 I 1) 5T 35lan o o 4ol 1 Jud 3853555 bl b 1wy iy 35350 0335 s 19 b (xiiles o

\ PP

393 O 595l 9 OIS 35S (U Lo jo jl (Solews 45 (> )5 35395 Ol p0 355 U9l 425 15 OB 33l jU Sl (ol 1)z 9 2 G2 Sl 1z 45 (] 5590 13 8348 )b VIG5
o o iy oyie 03355 1 3ilg3 o pasis ¥ WIS 100

359 53,91 ol siailys Olow s @B 9 255,55 IS 555 4 Olos Ol juess ()

3338 53 DT slozsil 31,5 Lol xisS S 5 1) (228 sisaslys yii ) pq (p

sl 539 028 B2 St Wil 45 35S o Lesl 2o Ol plose (F

X391 QLalS )3 45 25390 0Ll pls 44 3B Y315 4> Olsb b ST (F

S @3l O 35lejb 45 Caml (g s ol I ¥ 43S L0100

ol 0313 18 5T i | LT ad 45 (glazols  4i (gl 485355 4 SwS (Laizilb

§ %S il 45 03 )55l 31,31 9 OIS 35S (L) 2 4 2isg Olsz Ol ro 2l

a3 Ol 1) i o Ol 45 255 ,5 Ses (¢

35 p250 790 0l 1 ug 393 o iasl JWeS 1 g (F

Sl 3929 ES > Sl 119 Laiid ()
35392 83mlsS Jdluse oS slaws (V
Culai 3929 SIS 31l 4 SIS Ol s B aisgr S > 4S (6313l sl sl (¢

203 0551 L gl O3 las0 35 il Cornilgh g0 4035 Banig3 yim pun siaiSTy (F

/






Gyl sud s 3335 (00 855 Lo g dogliio 4 45 23399 (5,595 B )luw

>yl :ﬂ)b DJL’M Sl b M 44,1:»4 233

a

€S Nistaand S 0 38T it (545255 SOlez eyl .

(* Jlae (¥ Jokeo (¥ by (1 FawsS
O3S EB(F 035 Jer (P upd g onssn () ) RS

2 e (VUi i () V0SS
ese are &b jl Cul gox 45 iz (S r2o 0 P48

ST ol 23) 5 slael j1 Jis ¥ 4258

R B OT e 5 Su3 35 @MOUNT 105 als | 425 jow
03,5 Lol (F Oxd Ghgels (M Oad S (P 4 0,8 @lal ()
OLESES 13 S g0 03Lia | (51 2k 9 30 (g0 885 Olown T 42 4 )L 2

39303 (0 8k SO Olgie
S 51 2ol 34,55 2 45 Cawl ol o slizel
il ($593 (Sl 0 )50 Syl Fo 0 9 o) el
2>l adle )5 s 3 (9 pm UsE 053 9 el
o 3isand 3ol Jold 9 339 Sl 31 50biml o )lw S Sl

L1or
- 100
-lor
oy

10A






D

Cloze-¥ MrKonkori :¢ 90T e

10t i

.

glwl

Choose the best choices below to fill in the blanks.

People’s busy lifestyle in big cities has created many problems for their health. ......... A to and
from school and work has made it hard for everyone to be physically active. Many people do not have
time to cook or ........ = S healthy food. They eat unhealthy snacks and junk food. This type of diet
has changed people’s taste and many young people now ......... C=...... fast food to homemade dishes.
Watching TV and working with technology for long hours have also ........ D.covernne people’s health. They
have increased the risk of heart diseases and sleep ........ Eooneee. . So the things that seem so simple now
can cause serious problems in the future.

1.A

Flying Rushing (3) cycling (4] Jogging
2.B

predict prefer (3) prevent (4) prepare
3.C

dislike suggest (3) prefer (4] experience
4.D

improved identified (3] limited (4) risked
5.E

disorders discussions (3) relations (4) emotions

Choose the best choices below to fill in the blanks.

I am 55 years old now and | am going to ......... A......... this week. When | look back and read the
book of my life, | see that | have had a very interesting life. | was ......... B.oreee into a good family. My
father was a teacher and my mother was a nurse. They always worked very hard and gave me a normal
and healthy life. When | was a kid, | wanted to become a firefighter. After university, I ............. | G the
Fire Service. | have worked there for 30 years. It is a really difficult but ........ DES...... job. | worked very
hard to become a good firefighter. | have been in many ........ Eovennne for the past 25 years. But honestly, |
don’t remember how many lives | have saved and how many people | have made happy. Of course one
thing | know for sure: | have ........ BY.. B every minute of my life as a firefighter.

6 .A

escape decide (3] retire (4) recite
7 .B

worn born sold (4) told
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8.C

rushed avoided (3) joined (4) quitted

9.D

boring confusing (3] tiring (4) exciting

10 .E

invitations predictions (3) missions (4) additions

11 .F

enjoyed considered agreed (4) preferred

Choose the best choices below to fill in the blanks.

Making and selling handicrafts are good ways to help a country’s ......... A......... and introduce its culture
to other nations. Many people of the world ......... B......... handicrafts and sell them to tourists. In some
Asian countries a part of the country’'s ........ | GRR comes from making and selling handicrafts.

Iran has a five-thousand-year-old history of artistic works and handicrafts ......... D.covene pottery,
painting, calligraphy, rugs and carpets, etc. If you travel across Iran, you'll get back home with excellent
handicrafts as ......... E.coe.cee for your family and friends.

12 .A

economy identity (3) charity (4) poetry

13 .B

explain mention (3) appreciate (4) produce
14 .C

discount income (3) hobby (4) value
19

referring including (3) relating (4) depending
16 .E

souvenirs miracles (3) minerals (4) customs

Choose the best choices below to fill in the blanks.

Iranian art is quite famous all around the world. There are very excellent ......... A....... of Persian
art in many important museums of the world. If we want to name countries with richest art and
cultural ........ B......... , Iran is among them. Persian art is famous in the world for reflecting ......... - .
and social values of Iranian people and the natural beauty of this ......... D.. .. country.

Iranian craftsmen and craftswomen are famous for producing very ......... E......J artworks from
wood, metal and other simple materials around them. Many people of the world ......... — the art
and skill of a young Iranian girl who._......... (e j a beautiful silk carpet in a small village of Azarbaijan
or Kordestan. When ......... H........ buy Persian rugs or carpets, they take a part of Iranian art and culture
to their homelands.
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17 .B
diversity
18 .C
honest
19.D

main
20 .E
cheerful
21 .F
achieve
22 .G
weaves
23 .H
artists

Cloze test

very small, with fewer

as a(an) .......... (D)........
24 A

than
25 .B
difficult
26 .C

talk
27 .D

national

charity

polite

proper

domestic

introduce

earns

tourists

language.

(2) of

beautiful

speak

native

(3] ability

(3] patient

(3) vast

familiar

@ appreciate

(3) achieves

(3) potters

ten speakers. The most .....
Chinese. More than one billion people in the world .......... (Q........

(3) from

(3) frightening

say

(3) international

(4] activity

(4) moral

(4) neat

@ unique

@ surprise

@ reflects

(4) painters

Native speakers of languages range in size from very large, with hundreds of millions of speakers, to
O (=) R language in the world is
Chinese. English does not have this
number of native speakers, but it has around one billion learners around the world. They learn English

(4) in

(4) popular

(4) learn

(4) natural

Read the following passage and choose the best choices below to fill in the blanks.

An endangered language is a language that has very ......... A........ speakers. Nowadays, many

languages are losing their ........ B... B speakers. When a language dies, the knowledge and culture
......... C........ with it. A lot of endangered languages are in Australia and South America. Some of them
are in Asia and Africa. The number of ........ Da. X.. languages of the world is around 7000, and many of
them may not exist in the future. Many researchers are now trying to ......... C— endangered
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languages. This can save lots of information and cultural ......... Foveerene of people all around the world.

28 .A

few a few (3] little (4] alittle
29 .B

mother first (3) native (4) live

30 .C

vary range disagree (4) disappear
31.D

dead live @ extinct @ excited
32 .E

attack practice @ protect @ imagine
33 .F

differences emotions (3) devices (4) values

Choose the best choices below to fill in the blanks.

A new study shows that people who use the Internet too much may have serious mental health
problems. The study said that people who are addicted to the Internet have problems in life if
they cannot get online A......... In this study, the researchers from McMaster University in Canada
observed the Internet ........ B....c.... of 254 students. Then, they looked at the students' general mental
health. Thirty-three of the students were addicted to the Internet. The researchers said that
another 107 students had problems such as
........................................................................... C......... and anxiety because of their Internet use. The top
researcher in the study, Professor Michael Van Ameringen, .......... D........ what kind of problems he found
with students. He said: "We discovered that students addicted to the Internet had serious
problems planning their day-to-day activities, including life at home, at work or school and in social
situations." ........ E
........................ , however, believe we still know little about the dangers of Internet addiction and need to

cﬁ]more ......... o into i regularly certainly (@) completely
35.B

devices weights habits (4) hobbies
36 .C

depression condition education (4) addiction
37 .D

measured influenced experienced (4) explained
38 .E

Firefighters Specialists Patients (4] Inventors
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39 .F
improvement measurement (3] research (4) relation

Choose the best choices below to fill in the blanks.

With more than 190 countries and 7 billion people on earth, it is not hard to ......... A......... that many
cultures exist. No ........ B.......» where you go around the world, you will face people, lifestyles and
cultures that are different to what you have. People around the world have very different lives and ways
of living. They have different beliefs and customs. So they usually live and ................ Coveeene according to
what they believe to be right and wrong.

Learning to ........ D.......... other cultures is important for having new experiences and learning about
the world. One of the first steps to learn about other cultures is to simply ......... E......... that there are
many different cultures exist ........ LT — our own culture. One of the most important ways to learn to
become respectful of other cultures is to spend some time ... G on our own. Then it is

important to understand something about other cultures.

40 .A

satisfy imagine (3) combine (4) introduce
41 .B

matter manner (3) wonder (4) measure
42 .C

create avoid (3) behave (4) greet

43 .D

reflect combine (3) advise (4) respect
44 E

achieve accept (3) satisfy (4) expect
45 .F

besides aside (3) other than (4) other way
46 .G

predicting measuring reflecting (4) containing
Choose the best choices below to fill in the blanks.

Every weekend, if the weather is nice, | ......... A, time outside with my children. One of their
favorite things to do is to go to a nearby park. If we ride our bikes to the park, it ......... B......... about 10
minutes. If there ........ C. . a lot of traffic, it takes a little longer. Once we get to the park, the kids
choose their favorite playground equipment to play on. Jeffrey likes the climbing walls, but if he
................. D......... too high, | start to get nervous. | always have to advise him, “If you're not careful, you
........ E......... and hurt yourself.” My daughter Cheryl loves to play on the seesaw. On the way to the park,
she almost always asks me, “Mom, if there's no one for me to play with, ......... e you go on the
seesaw with me?” If she finds someone to play with at the park, she ......... CT the entire time on the

seesaw. Sometimes | talk to the other parents who are there. After an hour or so, the kids and | ride our
bikes back home. On the way, | tell them, “If the weather is nice next weekend, we ......... A back.”
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47 .A
spent
48 .B

take
49 .C

is

50 ..D
climbed
51 .E

fall

52 .F

do
53.G
should spend

54 .H

N3

—

spend

took

was

climb

will fall

should

would spend

(3) could spent

(3] is taking

(3) would be

climbs

(3) fell

(3) shall

(3) might spend

(4) would spend

(4) takes

(4) will be

(4) will climb

(4) would fall

(4) will

(4) will spend

come came (3) will come (4) would come
Choose the best choices below to fill in the blanks.

In some cultures, when you are invited ......... A.oenee a meal at someone's house, you might be
considered rude if you don't say how nice the food is. In Britain, for example, it's normal for someone to
thank the cook for ...B......... a tasty meal. You can say something like: That was delicious! Do,
please, write the recipe down for me!' In other cultures, however, people are not expected ........ ...
too excited about the meal. You might be considered as being rude, as the cook might think you're
......... D........... He or she might think, 'So, they're shocked | can cook well, aren’t they?' If you're not sure
what ... E......... , the best advice is to wait and see how other people at the table react. If that doesn't
help, ........ F.....o very careful about what you say!

55 .A

have having to having (4] to have

56 .B

prepare to prepare preparing (4) prepared
57

to getting to get get @ getting

58 .D

surprise surprised surprising @ surprisingly
59 .E

todo do doing @ to doing






60 .F
should be are (3] be (4) to be

Choose the best choices below to fill in the blanks.

People appear to learn in different ways. Some people expect ......... A......... mistakes in their studies
and are capable of ........ B......... from their mistakes. They don't mind ......... | G by their teacher
and indeed often ask to be corrected.

Others, however, dislike ......... D.. g mistakes. They try to avoid ......... E......... anything which they
might do badly. They would rather prefect something in small steps and be sure they have got it right
than attempt to do a task based on a subject they don't feel they have finished ........ F..oo.... yet.

Both ways of learning seem to be equally valid, but a combination of the two may be the best solution.
In order to learn effectively, students have to remember .............. G, risks sometimes. But they also
have to feel comfortable and secure with what they're doing so as not to become demotivated. All
students should at least think about ........ H......... their attitude towards learning.

61 .A

making to make (3) make (4) having made

62 .B

learning to learn (3) learn (4) to have learned

63 .C

correcting being corrected (3) to correct (4) to be corrected

64 .D

making to make (3) to be making (4) make

65 .E

doing to do (3) having done (4) to have done

66 .E

doing to do (3) having done (4) to have done

67 .F

explore to explore exploring (4) being explored

68 .G

to take taking @ to have taken @ having taken

69 .H

to question questioning question @ to be questioned

Cloze Test

"Overweight" isa ........ (59 Vsomo0mo term to use to tell a person that he is fat. Being fat is ......... (B).. .

from being heavy. A muscular gymnast may be of the same height and weight as his friend who gets
very little exercise. The gymnast is not fat but his friend ......... (©)eeeeeen be. When we eat too much and do
not get enough exercise, the extra Calories are stored as fat. Sometimes people overeat when they are
bored or lonely but often it is a case of ......... )", - the will power to avoid food. There are many ways
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to get fat but only two to stay slim and healthy. One .......... (E)........ less and the other is to exercise
more. Exercises like cycling, jogging, swimming or playing games burn calories quickly and keep us fit.

70 .A

emotional forbidden (3) recreational (4) polite

71 .B

similar harmful (3) different (4) opposite

72 .C

must can't may (4) shouldn't

73 .D

have not not to have (3) having not (4) not having

74 .E

eats is eating (3) has eaten (4] of eating

Technology has changed a great deal, ........ (A)......... computers were first ......... (B)......... to the public in
the early 1980’s. The first computers were simple machines designed for basic tasks. They didn’t have
much memory and they weren’t very ...... (Q)......... . Early computers were often quite expensive and
customers often paid thousands of dollars for machines which ......... (D)......... did very little. Most
computers were separate, individual machines used ......... (E)eeeenee as expensive typewriters or for

playing games.

75 .A

from for (3] since (4) so far

76 .B

prevented measured (3) increased (4) introduced

7.

powerful dangerous @ harmful @ famous

78 .D

sadly especially actually (4] orally

79 .E

physically mostly recently (4) lately

Walt Disney is without ........ (A).ceneeeee. one of the most famous people of the 20th century and ........
(=) s most people know hardly anything about him. Although he became one of the most successful
men in history, he ........ (C)ies..... school at 16 and then studied art for a short period of time .By the
1920s he had already started to produce cartoons in Hollywood in partnership with his brother
Roy, who, for some reason, never ........ (B s to become as famous as Walt. Disney is perhaps most well
known on account of his lovable cartoon character , Mickey Mouse, who first ........ (EN.... in 1928 in a

film called Steamboat Willie. One of the most popular cartoon films of all time is Snow White and the
Seven Dwarfs, which, when it was released in 1937, was the first full-length cartoon in the history of the
cinema.
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80 .A

doubt disagreement (3) explanation (4) comparison

81 .B

then already (3) however (4) yet

82.C

graduated failed (3) left (4) made

83.D

respected managed provided (4) belonged

84 .E

appeared seen (3) developed (4) supposed

Fossil analysis shows that at least five periods in the last 600 million years ........ (A).eeeeeee. a drastic
reduction in the number of species of plants and animals on the Earth. However, on previous occasions
such changes were ........ (B) cevereve. by asteroids or dramatic climatic changes. Scientists in general believe
that this ......... (C)......... is the work of man. The dominance of a single species type, homo sapiens, is
badly hurting the rest of ........ ((0) [ With a population of barely six billion, humans are rapidly .........
(=) I irreplaceable ecosystems. This sixth round of global dying of species could be far larger than
the first five.

85 .A:

have seen was seen (3) see (4) saw

86 .B:

fixed caused (3) avoided (4) endangered

We all need to eat different kinds of food to have a balanced diet, but only certain amounts of each one.
For example, you only need a little bit from the fats group, but ......... (A)......... vitamins and minerals. If
you had a lot of fat, and not enough vitamins and minerals, you'd notice some ......... (B)......... in your
body. You'd put on weight, and you might become very tired from ......... (Sl .. enough iron or have

brittle bones because of not getting enough calcium. A balanced diet is part of keeping healthy.

You can keep track of how much of each food group to eat by looking at the GDA, the guideline daily
......... (D)......... . The foods you eat all add up to a number of calories. Your GDA tells you .........(E)......... in
one day. Calories are what your body uses for energy - you need energy to get dressed in the morning,
play with your friends, and take a bath. If you eat more calories than your body needs, you can put on
weight.

87 .A)

much a lot of alot (4) alittle

88 .B)

differences exercises members (4) servings
89 .0)

no having don't have not having (4) to not have
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90 .D)

amount attack (3) addiction (4) attention

91 .E)

you should have how many calories how many you should have calories

calories how many should you have (4) how many calories you should have

Handicraft ........ (A)......... is a major form of employment in many developing countries and often a
significant part of the expert economy. With increased globalization, ......... (B)eereee products are
becoming more and more famous, with artisan producers facing increased competition from producers
all the world, ............ () J in China and other Asian countries. The home accessory market, often used
to estimate the demand for handcrafted goods, is strongly influenced by fashion, consumer, purchasing
patterns, and economic ........... ((0) - in the end, markets. Keeping up with frequently changing market
trends ......... (=) R major challenge for handicraft exporters.

922 A

invention production @ function @ suggestion

93 .B:

in this way therefor (3) however (4) besides

924 .C:

particularly rarely (3) primarily (4) mentally

95 .D:

observations conditions (3) destinations (4] expressions

96 .E:

promises exists (3) destroys (4) presents

Leonardo da Vinci was born in the town of Vinci, Italy on April 15, 1452. Not much is known about his
childhood other than his father was ......... (A)......... and had a number of wives. About the age of 14 he
became an apprentice to a famous artist ......... (B)......... Verrocchio. This is where he learned about art,
drawing, painting and more. Leonardo da Vinci is regarded as one of the greatest artists in history.
Leonardo excelled in many areas including drawing, painting, and sculpture. Although we ......... (@ R
a lot of his paintings today, he is ......... (D) IR most famous for his paintings and also gained great fame
......... (E)......... due to his paintings. Two of his most famous paintings, and perhaps two of the most

famous in the world, include the Mona Lisa and The Last Supper.

97 .A

right rich (3) simple (4) mental
98 .B

shown meant used (4) named
99 .C

not to have not having don't have (4) have not

(1o |






100 .D

probably quickly @ greatly @ totally
101 .E
that his time own during his own time (3) when his own time (4) after the time his own

. ’:
Recent advances in the fields of medicine and biotechnology ........ (@)eeneenn. in situations that could not
be even ........ (b).eerenes only a generation ago. Battery-operated plastic hearts can be implanted into
people. People ........ (o) R be kept alive indefinitely by machines. ........ (o ) IO or animals can be
made. While such scientific achievements may ultimately help ........ (e)..cc..... , they have also created

complex legal and ethical issues.

102 .a

will result was resulting (3) had resulted (4) have resulted

103 .d

Exactly copies Copies exactly (3) Exact copies (4) Copy exact

Art is what people ........ (A) ... with imagination and skill. ........ (B).......... a part of culture it shows the
way of life and identity of a nation and ........ (@) R the history of a society. ........ (D)..cvee. , the history
of humankind is the history of art. If we want to know a country or a nation well, we ........ ((E)Ses. . its art.
104 .A

make apply (3) create (4) conclude

105 .B

As For @ By @ However

106 .C

counts converts (3) combines (4) reflects

107 .D

Despite In fact (3) In any case (4) while

108 .E

should study will study would study (4] could study

People often talk about English as an international language or lingua franca. With more than 350 .........
(A)......... people around the world speaking English as a first language and many more speaking it as a
second language, there are English speakers in most countries around the world. Why is English so .........
(B)......... , though? And why has it become an international language?

People often call English the international language of business, and it's increasingly true as
international trade expands every year, bringing new countries into contact. ......... (O of the best
MBA programs are taught in English, so speaking it well can put you in a position to get the best training
and credentials. Most multinational ......... (D)......... require a certain degree of English proficiency from
their ......... (S B~ , SO in order to get a position with a top company, more and people are learning
English.

NIB /






109 .A
(1) million (2) millions
110 .B

(1) fluent (2)
111 .C

@ Few
112 ..D
(1) company (2) a company
113 .E

(1) tongues

of

(4) million of

(4) popular

(4) Plenty

(4) the company

(4) points
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The modern age is an age of electricity. People are so used to electric lights, radio, televisions,
and telephones that it is hard to ........ (a).... what life would be like without them. When there is a power
failure, people are badly affected. Cars may be stuck in heavy traffic because there are no traffic lights
........ (b) ........., and food goes bad in silent refrigerators.
Yet, people began to understand how electricity works ........ (o) R two centuries ago. Nature has
apparently been experimenting in this field ....... (< ) [ millions of years. Scientists are discovering

more and more that the living world may ........ (€)eeeuvenene a lot of interesting information about electricity

that could benefit humanity.

1.a

save
2.b

guide
3.c

only more than a little

remind

are guiding

more than a little only

(3) compare

to guide

@ imagine

(4) they guide

(3] for more than only a little (4] only a little more than

4 .d

since from (3) for (4) in

5.e

hold learn (3) surround (4) consume

Language is the main ........ () - of communication between peoples, but because there are so many
different languages, people all ....... (b).. . the world have a difficult time understanding one

another. ........ (<) I

many years, people have dreamed of

an international or universal

language which all people could speak and understand. Their reasons are straightforward and clear. If

all people ............... (e).....

and good will would increase between countries.

6.a

means
7.b

of
8.c

of
9.d

create

1

origin

for

In

creating

demand

from

@ For

to create

the same tongue, cultural and economic connections would be much closer,

(4) custom

(4) around

(4) since

(4) they create






10 .e

spoke speak (3) have spoken (4) had spoken
Modern technology is changing and improving all the time. Every month, scientists ........ A........ new
gadgets and equipment to help us with our daily lives, and ........ ... new ways to make existing
technology faster and better. Our homes are full of hardware (such as DVD players and computers) and
........ C......... (such as computer games and MP3s).

Research suggests, however, that it's the young people who are best able to deal with this
change. Whereas teenagers have no problem ..... B a DVD player, their mums and dads and
grandparents often find using new technology ........ Eooveneene and different.

11 .A

invent experiment (3) estimate (4) involve
12..B
decrease connect (3] discover (4] found
13.C
screens laptops (3) gadgets (4) software
14 ..D
inventing discovering (3) operating (4) explaining
15 .E
complicated sudden (3) unique (4) automatic

In many companies, perhaps the best way to do certain new projects is to put a group of
people together ......... (a) ... Having a team of people attack a project ......... (b)......... several advantages or
positive points. First of all, a group of people has a wider .......... (©)........ of knowledge, expertise, and
skills than any single group ........ (d).eeeneenee is likely to have. Also, because of the numbers of people
involved and the greater resources ........ (. , @ group can work more quickly in response to the
project they are to get done and can present highly creative solutions to problems and issues 16 .a

that a team is formed and so forming a team but forms a team and form a team

@

17 .b

offers to offer which offers (4) is offered by

13K

item range means (4] function

19 .d

section mission member (4) responsibility

20 .e

are available than they are available that are available (4) which they are available
]
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Have you ever wanted a certain vegetable at the wrong time of the year? Have you ever come home
from a long day only to ........ €] J that you have no vegetables for your dinner? I've been there. |
enjoy ........ (b)....e.... my vegetables with my dinner. Dinner feels incomplete without just the right
vegetable on my plate. But it seemed that every time | wanted to have a certain type of vegetable, it was
always the ....... (€) ... time. Well, not anymore! I've begun freezing my own vegetables, and I'm
happy to say that now | have my ........ (d).......... vegetables all year long, not to mention the savings. To
most people, freezing vegetables seems like a time-consuming and ....... (=) R process; however, it's
really very simple. You just need to know which kinds of vegetables are freezable, how to prepare them,
and how to blanch them.

21 .a

believe identify (3] discover (4) inform

22 .b

have having (3) to have (4) from having

23 .c

wrong exact (3) possible (4) enjoyable

24 d

vast recent (3) favorite (4) expensive

25 .e

complication of to complicate (3) complicate (4) complicated

Fossil analysis shows that at least five periods in the last 600 million years ........ (7Y I a drastic
reduction in the number of species of plants and animals on the Earth. However, on previous occasions
such changes were ........ (=) JR— by asteroids or dramatic climatic changes. Scientists in general believe
that this ......... (©)......... is the work of man. The dominance of a single species type, homo sapiens, is
badly hurting the rest of ........ R With a population of barely six billion, humans are rapidly .........
(=) o irreplaceable ecosystems. This sixth round of global dying of species could be far larger than
the first five.

26 .C:

factor origin ability (4) reduction

Itis recommended that parents read to their children at preschool and early primary levels. When they
read to a child from story books, comic strips of the better type, and ......... (A)...oneee. ,he learns that books,
magazines, and newspaper ......... &......... something of interest and amusement for him. He also comes
to AN (C). that this "something" which he enjoys is closely related to black and white symbols, and
that these symbols can be decoded only ......... (D). ... This awareness and interest from a ......... (E). ..

he can use to jump into learning to read in school.

27 .B

draw throw hold (4) rise

28 .C

find out look up pay attention (4) check in

xE D






29.D

when one knows how to read knowing how to read and when

by knowing that how one reads (4) when and how one knows and reads

30 .E

drop factor (3) means (4) communications

Some people go shopping more regularly than other people to look at products in shops even when
they do not have much money. This is known as window shopping and .................. [€=) IS people
to plan ahead and save for the things .................. D) or wait for the items to drop in price.
Some people spend a lot of time looking for bargains while others do not .................. (<) ISR the

price and are happy to spend a lot. Some people believe that the more expensive the item, the better
the (d) ..uueeeevennnene. , but this is not always true. It is reasonable to buy .................. () I , but
some people use a credit card or borrow money from the bank so that they can buy the items they
really want rather than wait for it.

31 .a

allows improves (3) attempts (4) provides

32.b

to buy they want in the future they want in the future buy

they want to buy in the future which in the future want they to buy

33.c

figure out get along with (3) look after (4) think of

34 .d

economy quality (3) image (4) origin

35.e

affrodable items that are items which are affrodable

affrodable items they are (4) which items are affrodable

Dictionaries can be really helpful when you are reading because they help you ......... (A)......... the
meaning of the words you don't know. However, using a dictionary too much can ........ (B)...ee.e..
problems with your reading skills.

To read comfortably, it's important to be able to guess the ......... (C)........ of unknown words using the
other words around it to help you. We call this guessing from context. This is important because it helps
you read faster and gives you the skills you need to read in English when ......... (D)...........

What happens if you are ........ (- ¥ not sure of the meaning of a word, though? What about if you
guess the wrong meaning and start using the word incorrectly?

36 .A

put out find out jump into (4) stand for

37 .B

pause cause contain (4) arrange

N3 /

p—






38.C

break origin (3) meaning (4) purpose

39.D

you don't have a dictionary available a dictionary is not available you

there’s a dictionary you are available (4) you are not available a dictionary

40 .E

effectively suddenly correctly (4) really

Receiving respect from others is important because it helps us to feel safe and to express ourselves.
Being respected by important people.in our lives .............. (A)......... us how to be respectful toward others.
Respect ........ (B)......... that you accept somebody for who he/she is, even when they're different from
you or you don't agree with them. Respect in your relationships builds feelings of trust, safety, and well
being. Respect doesn’'t have to come ........ (C)......... - it is something you learn.

All of us in society need to treat each other with respect if ......... (D)......... live peacefully together.
Respect is important because it means we treat others the way we want to be treated. So if we don't
treat others kindly, how can we ........ (E)......... them to be kind in return?

41 .A

is taught teaches (3) teach (4) is being taught

42 .B

means replies (3) pauses (4) shouts

43 .C

suddenly naturally (3) repeatedly (4) fluently

44 .D

we are wanted to feel safe so feeling safe that we want and

(3) we want but feeling safe (4) we want to feel safe and

45 .E

expect are expected have been expected (4] are expecting

“Solar” is the Latin word for “sun” and it's a powerful source of energy. In fact, the sunlight that shines
on the Earth in just one hour could meet world energy ........ (A)ereneeen. for an entire year!

We can use solar power in two different ways - as a heat source and as an energy source. People .........
(B)...cu.... the sun as a heat source for thousands of years. Families in ancient Greece built their homes to
get the most sunlight during the cold winter months. In the 1830s, explorer John Herschel used a solar
collector to cook food during an adventure in Africa. Today, we can use solar .............. (Chm..... for heating
water and air in our homes. ........ DR, with big shiny panels on the roof, that family is using solar
power. We can also use solar energy to make electricity. The process ......... KE).N... photovoltaics. If you
have a solar-powered watch or calculator, you're using photovoltaics!

46 .A)
demand radiation material (4) pollution
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47 .B)

are used had used (3) have used (4) uses

48 .C)

fuels conditions (3] collectors (4) systems

49 .D)

Having seen a house If you've seen a house (3) A house that is seen (4) That house you see
50 .E)

calls is calling had called (4) is called

Dr. Mohammad Gharib was born in Tehran, Iran, on July 5, 1909. After ......... (A)......... high school in 1927,
he went to Reims, France, where he studied at Ecole de Médecine de Reims for 2 years and then
enrolled at the Paris University Medical School. As a clever student at the medical school, he .........

(B)......... the difficult examinations. He received an M.D. degree in 1937 and, after one year of training in
pediatrics with Professor Ribadeau-Dumas in Paris, he ......... (Q)......... home. On his return to Iran, Gharib
was appointed the first professor of pediatrics at Tehran University by Dr. Charles Oberling, a French
educator who was dean of the ......... (D)......... school. Subsequently, Gharib became the head of the
pediatrics department, a post he held until his death in 1975. In 1941, ......... (E)......... on diseases of
children. Throughout his life he published many articles in Persian, French, and American medical
journals.

51 .A)

complete completing (3) completes (4) to complete

52 .B)

passed was passed (3) passes (4) have passed

53.0)

cared for shouted at (3] spoke to (4) came back

54 .D)

dedicated sudden medical (4) natural

55 .E)

he was the author of the first Persian textbook that he the author of the first Persian textbook

the author of the first Persian textbook that he the first Persian textbook was the author that

.o

Casuw

Little boys are usually active. They do things. Much of the time, little girls sit together and talk. When
children grow up, nothing ...... A changes. Men usually do things together or they talk about
activities such as sports and cars. They talk to give or get ........ B™=... . But for women, people and
feelings are more important. Women often talk to show interest and emotions. ......... - a man and
a woman speak the same language, sometimes they don't .......... D........ each other. Men's talk and
women's talk are almost two different languages. But maybe men and women ...... E.... ... each other if
they realize the differences in speech.
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56 .A

carefully previously (3) anxiously (4] really

57 .B

comparison direction (3) expectation (4) information

58 .C

Because However (3) Therefore (4) Although

59 .D

predict understand exchange (4) escape

60 .E

knew could know (3) are going to knew (4) will know

The calendar is a method by which people measure time for their own internal or religious ......... (A).cceuene
dividing it into years, months, weeks, and days. People of ancient times based the earliest calendars on
the most clear regular ....(B)......... they knew - the movement of the Sun and Moon, ......... () F
together produce the three simplest divisions of time. These are the day, the lunar month, and the solar
year. We now know that the regular movements of the sun across the sky ....(D)......... the Earth’s
turning. The day is the time taken ........ (= e the Earth to orbit on its axis - just under 24 hours. The
lunar month is the time between two new moons - about 29.5 days.

61 .A

purposes factors (3) wonders (4) symbols

62 .B

details effects (3) aspects (4) events

63 .C

who which (3) whose (4) where

64 .D

causes is being caused is caused (4] is causing

65 .E

with from by (4) on

Dialects develop when groups of people in the same geographical area have little contact. This
can happen when people ......... (A)......c.. apart by economic, political, or social
............................................................................................................................................. (B)........ . Sometimes a
group of people will considerably emphasize the difference between their .......... (C).. and that of

other groups, because they want to have a “ special language” of their own. Some people may feel that
one .......... (D)......... style of speaking is the “correct” way to talk, but they usually have in ......... (= o the
speech of more powerful groups in society. The speech of such a group is simply another dialect.
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67 .B

entries scenes (3) conditions (4) connections

68 .C

device crop (3] speech (4) phrases

69 .D

particular economical (3) commercial (4) essential

70 .E

origin mind aid (4] treasure

Mozart, ........ (A)......... was born on January 27, 1756 in the Austrian city of Salzburg, was neither the first
nor the last brilliant child, but he was ......... (B)........ The greatest. From the age of six when his father

took him on his first foreign tour, Mozart went to the musical centers of Austria, Germany,
France, England, Holland, Switzerland and Italy. It
.................................................................................... (C)........ That Mozart spent almost a third of his short life

- he died at the age of 35 - traveling. He ........ (D)......... into a wealthy family where his musical genius
......... (E)......... itself known extremely early. His earliest known work was composed in 1971 when he was
only five.

A he (3) when he (4) that he

72 .B

entirely immediately @ wonderfully @ certainly

73 .C

has been estimated has estimated (3) had been estimated (4) had estimated

74 .D

bore has born (3) was born (4) has been born

75 .E

got took made (4) had

Victor Hugo is a famous character in literature. He was the son of a general who served In the armies of
Napolean I. Hugo went to Paris with his mother at the age of ten. His first book of poetry was so ..............

(A)......... That he decided to be a writer. He became a chief member of the Romantic movement, .........
(B).. ql was trying to change styles and themes of writing. He .......... (Q)........ a lot of literary works such
as: novels, plays and epic poetry. Many of his novels and plays reflected his ......... (DESL...... in politics.
when France became a ........ {(E)... . Hugo returned to Paris as a hero. In 1878 he fell ill and died.

76 .A

successful advanced (3) technical (4) available

77 .B

who where which @ whose






78 .C

gave published (3) said (4) magnified

79 .D

interesting interest (3) interested (4) interestingly

80 .E

public symbolic (3) publian (4) republic

One of the most famous books in the world is the Gutenberg Bible. As much as half a million dollars
.......... (A)........ for .........(B)......... copy of it. It gets its name...........(C)........ Johann Gutenbergis .........(D).........
to have printed it. But probably an early printer named Schoeffer printed it ......... (E)eeeenene , Gutenberg is

often called the inventor of printing.
Most people, when they talk about the invention of printing, mean Printing with separate type letters.
But Gutenberg did not invent printing of this kind.

81 .A

had paid has paid (3) had been paid (4) has been paid

82 .B

asingle some (3) alot of (4) single

83.C

if despite (3) because (4) when

84 .D

recommended supposed (3) compiled (4) surrounded

85 .E

in pair together (3) instead (4) corresponding

The study of language ......... (A)eeeennne a tool of expression or communication necessarily .......... Bl the
study of gestures and sounds. Since animals use gestures and make sounds, they as well as humans
may have language. It seems ............. (C)...... ™ that although as a system of ......... (DT is not uniquely
human, human language has unique features. We put together ......... (E)eeenene signs and units of

grammar to form an endless set of never-before heard, thought, or read sentences.
86 .A

with throughout as @ when
87 .B

compiles includes supposes @ wonders
88 .C

clear public friendly (4) serious
89.D

connection competition communication (4) vibration
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90 .E
personal facial (3) opening (4] lingual

People in a wide area, from southern Somalia to northern Mozambique and the ......... (A)......... of Kenya,
speak Swahili. There are about five million first-language speakers and fifty million second-
language speakers. Swahili has become a language

..................................................................................... (B)......... people can communicate within East Africa and
the ........ (Q)......... regions. The Swahili language began to be spoken by the Swahili people who live on
the coast of East Africa and on the islands near the coast, ........ (D)......... Zanzibar, which is now a part of
Tanzania. Swahili which has been influenced .......... (E).o e many other languages like Arabic, is an
official language in some African countries such as Tanzania and Kenya.

0-A (3) (4) single

92 .B

in which that (3) when (4) with which

93.C

general surrounding environmental (4) natural

94 .D

or i.e (3) including (4) without

95 .E

with in @ by @ by means of

In order to compete against others in your sport, you as an athlete usually have to travel ......... (A)......... a

little bit to make that competition happen. You are changing your geography when you do this,
and your fans who

.................................. (B)......... you are also .........(C)......... their knowledge of geography. .........(D)......... ,
sports cost money, and while many professional athletes make millions of dollars every year,
others make only a few thousand. Amateur athletes don't get paid when they win, but somebody has to

make places

................... (E)........ to organize amateur events and the athletes have to spend money to travel to
t®se competitions. at last @ at least @ mostly

97 .B

hire judge support (4) discipline

98 .C

expanding containing @ arranging @ transmitting

99 .D

In contrast In addition In short (4] Instead
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100 .E

R
—— W e

get used to the idea that this new thing you're doing is part of your .........

destructive invisible (3) crowded (4) available
The idea of an alphabet ......... (A).eeee one symbol ......... (B)..ceuer. only one sound, was first used in Egypt
about 1900 B.C. Civilizations that traded with or fought against Egypt became ......... (C)....u.... this

alphabet, and the idea spread. The ancient Greeks adapted this alphabet and created their own. The
ancient Romans improved it to a state almost like our modern alphabet and after a while, the idea of
putting letters together to make words was born. You can see by looking at letters from the

Roman alphabet that these letters survive almost in its ......... (D)......... state, in the modern English .........
(=) T OROUNOORRO . - o= S
191 .A by which (3) which (4) with which

102 .B

guides offers (3] stands for (4) figures out

103 .C

complicated familiar with (3) general (4) imaginary

104 .D

commercial corresponding (3) original (4) available

105 .E

level drough (3] scale (4) alphabet

Charlie Chaplin ........ (A)......... to have been born on April 16, 1889. There is some doubt whether April 16
is actually his birthday, and it is possible he was not born in 1889. There is also .......... (B)........ about his
birthplace: London or Fontainebleau, France. His parents separated soon after his birth, leaving him in
the care of his ....... (Q........ sick mother. His father died when Charlie was 12, and his mother, .........
() IS a mental illness, was eventually sent to hospital. She died in 1928 in the united states, two
years after coming to the states to live with Chaplin, by then a commercial .......... ELo=..

106 .A

believed was believed believes (4) had been believed

107 .B

uncertainty confidence explanation (4) weakness

108 .C

increase increasingly increasing (4) increased

109 .D

annoying creating containing (4) suffering

110 .E

agency industry advertisement (4] success

It takes time for a change to become a/an ......... (A)......... habit. It will probably take a couple of months
......... (B)........ any changes become a routine part of your life. That's because your brain needs time to

......... routine. The key to
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making any change is to find the ........ (D)......... yourself, i.e. you have to do it because you want it, not
because a friend, teacher, parent, or someone else wants you to. It will be harder to stay on trace and

motivated if you're doing something out of obligation to ......... E)......... person.

111 .A

arranged designed treasured (4) established

112 .B

before as (3) while (4) after

113 .C

formal particular (3) regular (4) minor

114 .D

willingness aid (3) introduction (4) treasure

115 .E

other others (3) another (4) one another

Although the computer ........ (A)......... in existence since the late 1940s, the idea of such a machine was
first suggested as ......... (B)...c.... as 1833 by Charles P. Babbage. He called it an Analytical Engine, but it
was never completed ......... (Q)........ there was one thing missing from the world in that time, .........
(D)..ceens electronics. He was able to complete one part of the Analytical Engine and this can be seen

today in the Computing Gallery of the Science Museum, in London. The fact is that it was not possible to
build a mechanical computer. If Babbage had ........... (D)........ to electronics, then he would most certainly
have been the first person to build computer.

116 .A

was is (3) has been (4) was being

117 .B

soon early (3) former (4) late

118 .C

when while as (4) because

119 ..D

wisely alphabetically namely (4) primarily

120 .E

access crop infection (4) invention
Johannes Kepler was a German astronomer and mathematician who played a key role in the scientific
............ (A)......... that occurred in the 17th century. Kepler was interested in astronomy from an early age.
He e §B)......% the University of Tubingen where he studied Philosophy, mastered mathematics, and

further developed his remarkable astronomy skills. Kepler achieved much of his work around the same
time as ........ (Q........ famous astronomer, Galileo Galilei. Kepler's work on planetary motion helped
Isaac Newton later develop his own theory of universal gravitation. NASA honored Kepler by naming a
mission after him. Launched ........ (D)......... March 6 2009, the Kepler Mission orbits a high-tech space
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telescope that will search for other Earth-like ......... (E)eeeennnnn.

121 .A

anniversary revolution (3] success (4) biography
122 .B

established scavenged (3) organized (4) attended
123 .C

another other others (4) one another
124 .D

in at (3) on (4) from

125 .E

planetary planet @ plan @ plant

Saturn is the second largest planet and perhaps the most beautiful planet in the Solar system due to its
spectacular ring system. Saturn is a gas giant and has a small rocky core covered with liquid gas. The

planets is ........ (A).eeeeeee. by a system of rings that stretch out into space for thousands of kilometers. The
rings ........ (B)eeveenee up of millions of ice crystals, some as big as houses and others as small as specks of
dust. Saturn is very light since it is formed from more hydrogen than helium, so it is less dense. Like
Jupiter, Saturn has many moons ......... (C).vevee. surround it. Saturn has a very strong .............. (DRE..... field
which traps energy particles resulting in high ......... (=) R of radiation.

126 .A

taken reproduced (3) surrounded (4) stuck

127 .B

make have made (3) have been making (4) are made

128 .C

who by which (3) in which (4) which

129 .D

magnetic imaginary sudden (4) familiar

130 .E

droughts levels (3] tides (4] balconies

Galileo Galilei was an Italian astronomer and physicist ......... (A).eneee lived from 1564 to 1642. He was the
first to use a telescope to observe the stars and planets. At that time, the Catholic Church was
so powerful. The Pope......... ... .| Galileo to write a book on his views. Then one of Galileo "s enemies
said that his discoveries went ........ (... the church’s teaching. He spent the rest of his life under
house arrest but managed to write another book, which was secretly ......... (D)..... 8 in Holland. The

Catholic Church would have had him burned ......... (E)...eeeee they had found out about this book.
131 .A

who when whom (4) whose
1> J






132 .B

transmitted published (3) allowed (4) compiled

133.C

including through (3) according to (4) against

134 .D

worked out reproduced (3) published (4) entered

135 .E

unless as when (4) if

In 1939, Albert Einstein wrote a letter to the US President encouraging him to ......... (A)eerenee atomic
bomb research. It was on March 25, 1945 that Einstein sent a second letter to the President warning him
of the ......... (B)......... that would result ............... (C)........ an atomic bomb were used. The president died on
April 12, 1945 and the letter was left on his desk, unopened! The first atomic bombs were ......... ((0) -
tested in July, 1945. When Einstein heard of the death and destruction, he put his head in this hands and
said, “ made one mistake in my life when | signed the first letter to the ................... (B . But | felt that

there was a high probability that the Germans were working on this project and would use the atomic
bomb to destroy the world.”

136 .A

begin guide (3) recommend (4) suppose
137 .B

factor stand (3] destruction (4) break
138 .C

if because (3) otherwise (4) unless
139 ..D

successful successfully (3) success (4) succeed
140 .E

government governor prime minister @ president

Read the following passage and then choose the correct answer.

Many products are developed each year. Light bulb, camera, airplane, and telephone were invented by
scientists and ........ AE......m . Laptops, smart phone, and tablet were made by lots of work and
experiment. But not all products are developed by hard work. Some inventions were created
........ B.......... or scientists' mistake. Penicillin, .........C........ , was discovered quite accidentally when
Alexander Fleming was working on bacteria. Microwave oven also was invented during a
scientist's ........ D

.......................... on energy. More interestingly, some tools and technologies are not made by scientists at
all. Some like dishwashers and computer games were made by ......... E:......d people like workers,
housewives and school students.

3 A authors (3] physicians (4] inventors
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142 .C

hence rarely (3) for instance (4) once

143 E

meaningful special (3) ordinary (4) countless

144 .D

solution experiment (3) quantity (4) object

145 .B

by the way by heart by accident (4) most importantly

About a third of the Indians in the US live on reservations, while the rest have already moved
on to cities or larger towns. Even Though life has

............................................................................................. A...... Native Americans still .........B....... many
problems in today's America. Unemployment on reservations is about 50%. The income of an Indian
family is much lower than that of a white family. Most Indians are ............. | GR paid and are unskilled
workers. Suicide rates are also higher than in other places. Some Indians try to ........ D......... their
problems by ......... Eoovenne alcohol and taking drugs.

1@ A registered (3) located (4) received

147 .B

face look (3] solve (4) manage

148 .C

bad badly (3) worse (4) worst

149 .D

reduce cut (3) drop (4) decline

150 .E

drink drinking (3) to drink (4] drunk

Martin Luther King, Jr. was born Michael Luther King, Jr., ....... A........... his grandfather had his name
........ B.......... to Martin. Martin Luther attended segregated public schools in Georgia, .........C......... from

high school at the age of fifteen; he received the B.A. degree in 1948 from Morehouse College, a
distinguished institution of Atlanta from which both his father and grandfather had graduated. After

three years of theological study in Pennsylvania in 1951 he ........ D T and married Coretta Scott, a
young woman of ....... L ... intellectual.

151 .A

and so since (4) but

152 .B

given changed become (4) made

153ssC

graduating finishing (3) graduated (4) finished

2 /






154 .D

saw seem (3) met (4) watched

155 .E

common particular (3) uncommon (4) general

The Run For it Foundation ........ () e by Albert and Grace Donner in memory of their son Felix, a
victim of brain cancer who passed away in 1985 at the age of 11.

Begun in 1987, the foundation's Fun Run has ......... (b)......... increased in size from almost 50 runners to
just over 800 as of last year. Every year the foundation holds ceremonies ........ (<) IOUon . The first
ceremony brought in about $50,000 for cancer research. This year organizers hope to raise even more
money! As the ceremony ....(d)......... by volunteers and supported by community donations, every
penny raised goes directly to Children's Hospital in support of cancer research and efforts to .........
() - the lives of children with cancer.

156 .a

that founded it founded (3) was founded (4) founded

157 .b

widely patiently (3) helpfully (4) gradually

158 .d

organizes is organized (3) has organized (4) which is organized

159 .e

cure identify (3) arrange (4) improve

Recent advances in the fields of medicine and biotechnology ........ (@)eeeennee in situations that could not
be even ... (b).......... only a generation ago. Battery-operated plastic hearts can be implanted into
people. People ........ (G zm be kept alive indefinitely by machines. ........ (d)......e... or animals can be
made. While such scientific achievements may ultimately help ........ (€)eeeunenene , they have also created

complex legal and ethical issues.

160 .b

replaced imagined compared (4) required

161 .e

ethics behavior (3) heritage (4) humankind

The human eye is nature's most fantastic organ, and the high degree of development of human society
probably depends upon ........... ). B .When nature first developed this intricate and adaptable
organism, human eyes ......... 1B)..B.. mainly for outdoor work and living. With the stress of indoor life
and unnatural lighting, much pressure is placed on eyes today. Sometimes more than nature's
assistance is needed to keep eyes in shape for the many uses they .......... ......... in modern life. It is also
true that we have ......... (D)......... man's normal lifespan to almost twice what it was in ancient societies.
Visual problems also increase with age, and eyes usually need some corrective ......... (E)oreee.. as one
grows older.
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162 .B:

used we used (3) were used (4) have been used

163 .D:

expanded replaced (3) saved (4) ranged

164 .E:

skill care (3] space (4) addiction

The solar panels that are installed on the roof of a house to capture energy from the sun. They take this
energy and use it ......... (A).coeeee. and even hot water. Solar panels can even work on cloudy days when
the sun isn't very visible at all.

Of course, solar panels ......... (=) B a home with power at night, so most people still have to remain
connected to the National Grid (this is where you get your electricity from). However, there are some
advantages to staying ......... (©)......... to the National Grid.

The sun shines on the solar panels and the panels ......... (D)......... the energy, creating direct current (DC)
electricity. The electricity is fed into what is called a solar inverter. This ......... (E)......... the current into

alternating current (AC) electricity. The AC current is then used to power the appliances in your home.
165 .A

that the house with electricity provides with electricity the house provides

so electricity provide the house with to provide the house with electricity

166 .B

cannot be provided cannot provide (3) does not provide (4) are not provided
167 .C

connected polluted (3) considered (4) informed

168 .D

hatch warn @ absorb @ replace

169 .E

converts reaches succeeds (4] spoils

Online dictionaries help when you are not sure about the spelling of a word ......... (A).eeeee. is not possible

in a traditional paper dictionary. Online dictionary allows you to write in just the letters you know and it
will return all the words with those letters in the positions earlier specified. Then you may select the
word which is required. For example, if ......... (B).......4 confusion in the number of ‘m’ in the word
‘committee’, you can go to the dictionary search box and then type ‘committee’ and ......... (C).B... you
will bid goodbye to your confusion.

......... (D)........., spelling, definition, usage, synonym and antonym, syllable division of word, etymology,
plural form, word'’s part of ......... (E)......... , sample sentences of a word, online dictionaries can make the
language alive by supplementing audio pronunciation and voice record functions.

170 .A
that it whom who (4) which
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171 .B

(1) there will be (4) there are
172 .C
(1) immediately (4) correctly
173 .D

(1) If you provide the word meaning the word provides

(3) Besides providing the word meaning ord meaning is providing

174 .E
(1) volume

(4] entry

(2) speech
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